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  202111 �������3�12�ก�	�12���	 2  3�1�ก3	=�9780�3�1�กC9ก��65 F�B3�1�ก   R�9S?�5��S�Q9��
  

 202241 กw�5��C90=78�
	BKT�7�9   2  9�กก��65K�ก	��780�G�
9=Q  204231 ก�	E
	Fก	5308
7��I� 3 

 202261 ���9�ก��ก�	GT�39890=78� 2 204228 >7�55�29>

��G���S�
 3  3�1�ก3	=�9780�3�1�กC9ก��65 F�B3�1�ก  

 202262 ���HH		5 2  3�>E9E��=��	�93��F�Bก�	 3  9�กก��65K�ก	��780�G�
9=Q  

 202291 ก�	K�Gก�	�5��C�56 2  �12���	  204232 ���กก�	
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59���D 3 
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 202324 ����Uก��308
���7�N9H		5 2 204229 3�	�R����	D3�>E9E��=��	�93�� 3 204220 ก�	�12���	H�	ก8K 3 
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	�0@�76�G?7�ก�	�Uก��F�Bก�	 2 204318 F��6
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  �T�
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	Fก	5
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	Fก	5
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 204425 ก�	783>	�B�DF�B78��ก�D�12� 3 204210 ก�	K�Gก�	�T�9�ก
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 3 
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2)  ก�GLH
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0�Q9
v ��>ก�	�Uก���=2 1 9ก. ��>ก�	�Uก���=2 2 9ก. ��>ก�	�Uก���=2 3 9ก. 

1 	��780��Uก����27�
 Y ก��65>:8�����	D 3 	��780��Uก����27�
 Y ก��6578�������	D 3 	��780��Uก����27�
 Y ก��6578�������	D 3 

 202107 ก�	C0?>�5�873��	DF�B��	�93�� 3 203102 ������
ก�� 2 3 203203 ������
ก�� 3 3 

 203101 ������
ก�� 1 3 204103 �I8�83�12�ก�	78K��78���ก�	��	�93�� 3 204112 กw�5��F�BK	8�H		5C9 3 

 204102 >:8�����	D3�12�>�5�873��	D 3 204105 ก�	�12���	57�09 3  3�>E9E��=��	�93��  

 204104 ก�	�12���		B�76�
��>>�F�Bก��65 3 204111 ก�	�12���	S?�5��F�B3>	1�S6�� 3 204108 ก�	3S=�9E
	Fก	5>�5�873��	D 4 

 204110 ก�	�	8��	>�5�873��	D3�1Q�
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       204113 ก�	783>	�B�D	B����	�93�� 3 
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2 202211 ก�	>8G3�12�ก�	��N9� 3 202212 59���Dก��7�N9H		5 3 202213 E�ก��87��9D 3 

  3�1�ก3	=�9 2 �967�ก8� K�ก	��780�  204204 ก�	��กF��F�B��N9�R�9S?�5�� 4 204236 ก�	��กF��F�B��N9� 4 

  G�
�6��
9=Q  204206 ���กก�	��กF��F�Bก�	�	?�
��	   3  F�98350�9F�B5���85=3G=�  

 114100 ก=y�F�B9�9�9�ก�	 2 204224 ก�	I6�����3�12�ก�	�12���	 3 204208 3�>E9E��=ก�	<�8��12�57�09 1 3 
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 202241 กw�5��C90=78�
	BKT�7�9   2  9�กก��65K�ก	��780�G�
9=Q   ����9�	D  

 202261 ���9�ก��ก�	GT�39890=78� 2 204228 >7�55�29>
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 3  3�1�ก3	=�9780�3�1�กC9ก��65 F�B3�1�ก  

 202262 ���HH		5 2  3�>E9E��=��	�93��F�Bก�	 3  9�กก��65K�ก	��780�G�
9=Q  

 202291 ก�	K�Gก�	�5��C�56 2  �12���	  204232 ���กก�	
L8��5��9HD	B�76�
59���D 3 

 202292 <�?
	Bก��ก�	H�	ก8K3�>E9E��= 2 204415 ก�	3S=�9��>7�5F�B��	>G= 3  ก��>�5�873��	D  

 202324 ����Uก��308
���7�N9H		5 2 204229 3�	�R����	D3�>E9E��=��	�93�� 3 204220 ก�	�12���	H�	ก8K 3 

 202354 
	�0@�76�G?7�ก�	�Uก��F�Bก�	 2 204318 F��6
��	�93�� 3 204217 ก�	���G 3 
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 203204 ������
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3 204301 78H=78K��308

	85�: 3 203305 ������
ก�� 5 3 204349 3�>E9E��=ก�	<�8�F�98350�9  3 

 204302 3�>E9E��=ก�	<�8��12�57�09 2   3 204306 ก�	�	8��	�
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  9�กก��65K�ก	��780�G�
9=Q   9�กก��65K�ก	��780�G�
9=Q   9�กก��65K�ก	��780�G�
9=Q  

 204332 ก�	��N9�E
	Fก	5
	B��ก�D 3 204337 ก�	E
	Fก	5F��S9�9F�BF�� 3 204346 ก�	��N9�E
	Fก	5
	B��ก�D 3 

  �T��	��	B��3>	1�S6��   ก	BK��   �T��	����
ก	:D3>�12�9�=2  

 204333 ก�	��N9�O�P�DF7	DEG��UG 3 204338 ก�	��N9�E
	Fก	5
	B��ก�D308
 3 204347 ก�	��N9�O�P�DF7	D�12�
	B�5 3 

  3���ก�	:D   7��I�S�Q9��
  204348 ก�	��N9�3ก5>�5�873��	D 3 

 204334 ก�	E
	Fก	5�����>	8
�D 3 204339 ก�	��N9�O=F59�8ก374� 3 204222 ���8ก		5����ก��ก�	�12���	 3 

 204353 ก�	783>	�B�D<�?	����	 3 204340 ���กก�	
V@@�
	BG8�RD 3 204237 ก�	�12�S6�7F�Bก�	3S=�9S6�7 3 

 204354 3�>E9E��=ก�	K�G<�
	��ก�	 3 204325 ก�	EW�:�F�Bก�	
	B0���5��9HD 3  �9�
�1��85�DF�BS6�7��9��9D  

  �12���	57�09  204326 ก�	F
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�9983������	D 3 204323 3�>E9E��=ก�	�12���	��
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 3 

 204403 ก�	�12���	�6�
F�B	B�76�
7�N9H		5 3 204341 ก�	�12���	ก�	���G308
��	:�ก�	 3 204402 K8�78���ก�	�12���	 3 

 204425 ก�	783>	�B�DF�B78��ก�D�12� 3 204210 ก�	K�Gก�	�T�9�ก
�9 3 204414 ���8ก		5F�Bก�	�12���	C9�
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 3 
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3)  ก�GLH
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v ��>ก�	�Uก���=2 1 9ก. ��>ก�	�Uก���=2 2 9ก. ��>ก�	�Uก���=2 3 9ก. 
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 Y ก��65>:8�����	D 3 	��780��Uก����27�
 Y ก��6578�������	D 3 	��780��Uก����27�
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 202107 ก�	C0?>�5�873��	DF�B��	�93�� 3 203102 ������
ก�� 2 3 203203 ������
ก�� 3 3 
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 204102 >:8�����	D3�12�>�5�873��	D 3 204105 ก�	�12���	57�09 3  3�>E9E��=��	�93��  

 204104 ก�	�12���		B�76�
��>>�F�Bก��65 3 204111 ก�	�12���	S?�5��F�B3>	1�S6�� 3 204108 ก�	3S=�9E
	Fก	5>�5�873��	D 4 
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9=Q     
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��G���S�
 3  3�1�ก3	=�9780�3�1�กC9ก��65 F�B3�1�ก  
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v ��>ก�	�Uก���=2 1 9ก. ��>ก�	�Uก���=2 2 9ก. ��>ก�	�Uก���=2 3 9ก. 

3 204301 78H=78K��308

	85�: 3 203305 ������
ก�� 5 3 204355 ก�	K�Gก�	E>	
ก�	�T��	��	B�� 3 
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  9�กก��65K�ก	��780�G�
9=Q   9�กก��65K�ก	��780�G�
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9=Q  
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	Fก	5
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	Fก	5F��S9�9F�BF�� 3 204346 ก�	��N9�E
	Fก	5
	B��ก�D 3 
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 204333 ก�	��N9�O�P�DF7	DEG��UG 3 204338 ก�	��N9�E
	Fก	5
	B��ก�D308
 3 204347 ก�	��N9�O�P�DF7	D�12�
	B�5 3 
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�D 3 204339 ก�	��N9�O=F59�8ก374� 3 204222 ���8ก		5����ก��ก�	�12���	 3 

 204353 ก�	783>	�B�D<�?	����	 3 204340 ���กก�	
V@@�
	BG8�RD 3 204237 ก�	�12�S6�7F�Bก�	3S=�9S6�7 3 
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�9983������	D 3 204323 3�>E9E��=ก�	�12���	��
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 3 

 204403 ก�	�12���	�6�
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7�N9H		5 3 204341 ก�	�12���	ก�	���G308
��	:�ก�	 3 204402 K8�78���ก�	�12���	 3 

 204425 ก�	783>	�B�DF�B78��ก�D�12� 3 204210 ก�	K�Gก�	�T�9�ก
�9 3 204414 ���8ก		5F�Bก�	�12���	C9�
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 204218 กw�5��H�	ก8K 3 204221 ก�	��@0= 3 204416 ก�	78K��983������	D 3 
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 3 
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�9 3 
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       204328 H�	ก8K�83�4ก�	�98ก�D 3 
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�����	������#ก�� 
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v ��>ก�	�Uก���=2 1 9ก. ��>ก�	�Uก���=2 2 9ก. ��>ก�	�Uก���=2 3 9ก. 

1 	��780��Uก����27�
 Y ก��65>:8�����	D 3 	��780��Uก����27�
 Y ก��6578�������	D 3 	��780��Uก����27�
 Y ก��6578�������	D 3 

 202107 ก�	C0?>�5�873��	DF�B��	�93�� 3 203102 ������
ก�� 2 3 203203 ������
ก�� 3 3 

 203101 ������
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 204353 ก�	783>	�B�D<�?	����	 3 204340 ���กก�	
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	��ก�	 3 204325 ก�	EW�:�F�Bก�	
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